1 2 3 ] 4 5 i 6 | 7 8 | 9 | 10 11 | 12 1o | -

| 36—VANE MATERIAL LIST
1350,/DIA o WINDSHIELD m — v
O.
A [ 19 No. DESCRIPTION REQ. | NOTE MATERIAL
T . 1] 32” N.B. CL.150 RF. WN. FIANGE 6 WALL ASME-B16.47/B| | A350 LF2 CL.1
4-OFF PILOTS T ] 9 2 | 8" N.B. CL.300 RF. WN. FLANGE SCH.40 ASME-B16.5 | 1 A105 |
A EQUI-SPACED ch [ f-‘ L, 3 | FLARE BODY 6 PLATE | A/R 3105 ST. STEELJA
A ~ F AS SHOWN ) IR — R4S |
(8 \ . T 4 | AR LOCK SEAL 6 PLATE | 1 3105 ST. STEEL
{ 36-OFF 1"NB. GBA USN-N LE y . 5 | FLARE OUTLET SECTION 10 PLATE | A/R 5105 ST. STEE(
STEAM NOZZLES 11 :
< EL 5000 _ ‘ o | oot A 6 | CENTRE STEAM GUIDE 6 PLATE | 1 3105 ST. STEEY
- IR . - ! LOCATION ~ 7 | CENTRE STEAM CUIDE SUPPORT 6 PLATE ] 3 - 3108 ST. STFEEL
@ PIN 8 | WIND DFFLECTOR 6 PLATE | 2 3105 ST. STEEL}—
! 3 oU U DETAIL=3 (1:5) 9 | FLAME RETENTION BRACKET 10 PLATE | 4 510S ST. STEE(
1] R : 90 10 | LIFTING LUG 10 PLATE | 2 3108 ST. STEE
] * ‘ @ | Py PILOT CUIDE BRACKET 11 ] USN-N 1" NB. STEAM NOZZLE & FEED PIPE | 36 loBa so. 3108 s sTER
(H\/ ‘ LIFT PILOT TO DISENGAGE PIN 12 | STEAM RISER 8” NB. PIPE x SCH.40 A/R 316L ST. STEFL
— E UoouUe g 13 | STEAM RING 6” NB. PIPE x SCH.40 A/R 316L ST. STEEL]q
/PJ\ O N 14 | CENTRE STEAM LINE 2" NB. PIPE x SCH.40 | A/R | 3160 ST. STFEL]
i : | 15 | CENTRE STEAM NOZZLE CCN-2 1 {GBA STD. | 310S ST. STEFU
o FLAME RETENTLON ’|£3 CTEAN D1 AN [ ~ DI ATE 1 1R T CQCTEE
( Ny BRACKET U ~JTL,AHA |\1SER meHOr\ U t[_/"\lL, i u(uL NO IS I N I
~ EL. 2265 S ) ) ) ! B B B L 17 | STEAM RISER GUIDE 6 PLATE| 1 310S ST. STEEY
\_| ./ . N [/ < [ 216 I8 | PILOT ANCHOR BRACKET 6 PLATE| 4 3105 ST. STFEL]
. J\ = &“‘?3] in , 19 | PILOT GUIDE BRACKET 50x50%6 FOLDED ANGLE 4 3105 ST. STEEY
w EL 2065 — (15) [[EnN \( - L (LA N 20 | GBA STANDARD 1%2” NB INSPIRATOR ASSEMBLY 4 |GBA STD.  |CAST ALLOY
N | s ! \/’\ . C@iDETAIL—S IR 21 | CHT PILOT BODY 4 |GBA STD.  |310S ST. STEFU
5 7 N (19 ) SEE PLAN VIEW A-A : |
A 54> e B | . 22 | CENTRE STEAM FLARE BODY COMPENSATING PAD 6 PLATE| 1 310S ST. STEFL,
: Yy EL. Ngﬁfo‘ @ " PILOT ORIENTATION DETAILS ‘180“ SOSITIONS 23 | PILOT THERMOCOUPLE (DUPLEX) L = 15m 4 |GBA STD.  JINCONFL 600
) . C
- ﬁ ' 2 K 24 | STEAM RISER CENTRE STEAM COMPENSATING PAD 6 PLATE| 1 316L ST. STEEL
90 Y = / i
et \2IAIOR 2 F //" s » 5 1 SPUT PIN 4 DIA x 40 LONG OR 3 DIA MIN LOCKING WIRE | 14 - 316L ST. STEEL
( 10 eTal -4 26 | GBA NAME PLATE & BRACKET 1 |GBA STD.  |316L/3105 ST. STFEL
1l & £L 1550 ' | J R 40 27 | HEX HEAD BOLT M16 x 2p x 40 LONG 8 316 SI. STEEL
i = 28 | HEX HEAD BOLT M16 x 2p x 55 LONG 2 316 ST. STEEL
@_ 6) ! ot L\ W EL 1800 29 | HEX HEAD BOLT M16 x 2p x 40 LONG 4 316 ST. STEEL |
23 F1-OFF PIR 3l s 30 | HEX NUT—FULL M16 x 2p 14 316 ST. STEEL
PILOT T/C | N ot 50 o 31 | HIGH ENERGY SPARK IGNITOR 4 lcea s |warious
SEE 1@8 @ 25 <L 1200 1o> THRO 32 | PILOT MANIFOLD | 304L STSTEEL
& 33 | HEX NUT-FULL M16 x 2p — PAINTED RED 4 |SEE NOTE 11)316 ST. STEEL
35 HIGH TEMPERATURE 20 34 | BURNBACK THERMOCOUPLE MOUNTING ASSEMBLY 1 {GBA STD.  |310S ST. STERD
N CABLE — :
94 14) - | / e o 35 | BURNBACK THERMOCOUPLE TYPE—K DUPLEX L = 15m 1 JGBA STD.  |INCONEL 600
T DETAIL—4 (1:7.5)
FL 85 : SFE
WEL 850 7 27 @ 25 i LFTING LUG DETAIL
% [ o 2—OFF REQUIRED ﬁ
0 5 o . B -
. wr [L. 700 S S~ |
16 l _'P_l ! R Code MW  (Approved) Vendor to submit "For Final
- ! L UELTng @ ofe (No comment & release for rnanufacturing)
— 1 8
\ ‘ (Approved with comments) Vendor shall
() -
BURN BACK_@R\ 26 i 1] . 3 correct / revise & submit it as “For Final”
1/C 1-0FF \/ | I 270 Code? o i
e (20 ! (Released for manufacturing if change
o E E /& incorporated as indicated)
T 7 ——p-1- + EL. 200 - - (] {Commented) : Vendor shall correct / revise &
1 %# Code resubmit . It as " For Approval” of the date
7 ’ 3 | o & ! specified : ( Corrected documents to be
T | EL' EL. 0.00 ®© 13 Code4 |L_]  Not Acceptable auality (Rsject) -
| \:{- 1 TTT The Gbag—checkmg result by OIEC shall in no way relieve
] i | /} Vendor of any liability, obligation and responsibility out of the
T ) g purchase order and the mutual agreement in writing
l / ‘ - J ]
! — - 2 Jot [ 2ol
N SECTION B-B IS e REQUIRED ~ Y e+ 2( [T (2012
4 . 1 FOR TRANSPORTATION — 33 () N
INLET TERMINATION DETAILS ONLYSEE NOTE 10 DEPT: A F
N3 N2 DETAIL-5 OIEC—SP 20&21 /
N N\ Signature C
800 635 STEAM RING LOCATION BOLT :
. ] I
& TYPICAL 4 POSITIONS—SEE NOTE 11 Only for internal review |
CV EL IN A
TYPICAL ELEVATION N3 i S L
NOTES: ST BU PR SA HY TL B
9 :
FOR_TRUE ORIENTATION SEE PLAN VIEWS 1. MATERIAL CERTIFICATION TO BE IN ACCORDANCE WITH EN 10204-3.1 - | —
B 2. PIPE WELDING TO BE IN ACCORDANCE WITH ASME X / ASME B 31.3. AND 1 |28/06/12 ISSUED FOR APPROVAL GBA| E.B. | N.B. | TF.
GBA DOC. N VP—SP2021—0ON-MA—0700-0057-0025 . ]
STRUCTURAL WELDING TO BE IN ACCORDANCE WITH AWS D1.1 0 |22/11/11 ISSUED FOR APPROVAL GBA| EB. | N.B. | T.F.
N - 7 Al , | : COUAL -
50 | 27 3. ALL FILLET WELDS SHALL HAVE A THROAT LENGTH AS A MAXIMUM TQUAL TO 7/10ths OF ORIG] PREP. | CH'D. |APP'D.| Contractor
\ - THE SMALLEST THICKNESS TO BE WELDED BUT NOT LESS THAN 6mm UNLESS OTHERWISE REV-) DATE DESCRIPTION CCECI
NOTED
TN ~ ~ — '
’\@ OR{ 29 30 INLET FLANGE TERMINATION TABLE 4. ALL NDT TO BE IN ACCORDANCE WITH ASME V& ASME B 51.5. SOUTH PARS GAS FIELD DEVELOPMENT— d
| - , AND GBA DOC. N VP—SP2021—0ON—MA—0700-0057-0102 (INSPECTION AND TEST PLAN) 7
1] o SRS SR allii 5. LONGITUDINAL WELDS TO BE STAGGERED & POSITIONED 50mm MINIMUM CLEAR OF ALL PHASES 20 & 21, ASSALUYRHIRAN m’
A » . , o - K . _ mm L
i ___4 N2 | 37’N.B. CL.150 RF. WN.FLANGE 6 WALL ASME-B16.47/B| FLARE GAS INLET  |A350 LF2 CL.1 ATTACHNENTS. eq. WEBS PILOT BRACKETS Etc. UNLESS OTHERWISE NOTED, ONSHORE FACILITIES NIoC
o | ] A o , B PARS OIL AND GAS COMPANY
o - / ] N3 8" N.B. CL.300 RF.WN. FLANGE ~ ASME-B16.5 STEAM INLET AMOS | & GRIND SMOOTH ALL EXPOSED EDGES OF PLATE. -
» “AC =
- — | N4 ] 1" NB. CL150 REWN. FLANGE ASME-BT6.5 PILOT GAS INLET  JAT82 F504L 7. UNLESS OTHERWISE STATED FLANGE BOLT HOLES TO BE EQUI-SPACED ABOUT MAIN PROJECT No.: POGC—572-88-35 DOC.CLASS: SCALE 1:10
OR{ 17/ 1—HOLE 4.5 DIA. CENTRE LINES.
7 | Q== GBA JOB No.
| 1 HOLE 4.5 DIA. THRO ON ASSY 8. SURFACE FINISH : STAINLESS STEEL ITEMS — NATURAL FINISH (PICKLED AND PASSIVATED) e ] e ] oy 13
BRACKET REF ONLY THRO ON ASSY & FIT | CARBON STEEL ITEMS (ITEM 1-2) — HIGH TEMPERATURE ALUMINIUM PAINT L ke svsteus ®
TO SUIT AS REQUIRED N & FIT /o @ 18 9. TERMINATION FLANGES TO BE PROTECTED WITH BOLTED ON TIMBER DISCS DURING TRANSPORTATION. 250w )y R | GBA DWG No. s .
Fax. +39 (033) 24.99.746 . SUD 4 1
ON ASSEMBLY 25 10, WEIGHT = 1300 kg e K| 413/2 ]
DETAIL—1 (1 :2) DETAIL—2 (1 .2) 11. 4—OTF STEAM RING SECURING NUTS ITEM 33 (PAINTED RED) GCT-32C / MP FLARE TIP GENLRAL ARRANGLMENT
: ARE FOR FLARE TRANSPORTATION ONLY AND MUST BE REMOVED 140-X=103/203
TYPICAL STEAM LINE BOLTING DETAIL PILOT ANCHOR BOLTING DETAIL AFTER INSTALLATION, PRIOR TO FLARE BEING IN USE
DRAWING No. | VP-SP2021-0ON-MA—-0700-0057-0021 |\SHEET No.! 1 OF 1 |REV. 1

1 i 2 ] 3 1 4 I 5 6 7 8 g 1 10 { 11 i 12 13 ! 14 \ 15 1 16
. PLOTTING SCALE 1=10




